
Time: 40 Minutes Paper G. Science 7th Total Marks: 25

3rd Month, 4th Week, 4th Day Syllabus: Unit # 6:  Double & Triple covalent bond

+ Exercise.

Q.No.1 Encircle the correct answer from the following choices. (1×10=10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. Which of the following molecule has triple covalent bond?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwwwRRRR,,,,>>>>ÞÞÞÞÃÃÃÃzzzz&&&&ÒÒÒÒ3333ïïïï GGGG
EEEEHHHH!!!!****&&&&++++gggg‚‚‚‚rrrrìììì????

(a) (b) (c) (d)

2. A molecule consists of two or more: ZZZZqqqq----ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwwwŠŠŠŠzzzzcccc****iiiicccc****ŠŠŠŠ{{{{''''''''''''6666,,,,ŒŒŒŒƒƒƒƒ@@@@****ììììXXXX

(a) compounds %·] (b) atoms ZÅ

(c) formulae Ãgñá (d) elements Z
&Í-.54

ø

GG
EH

3. Which of the following is a cation? qqqqggggzzzzffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚´́́́44445555ééééGGGGHHHHííííìììì????

(a) H
2

(b) H
2
O (c) CO

2
(d) NH+4

4. Which of the following is an anion? qqqqggggzzzzffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ZZZZbbbbííííìììì????

(a) F (b) Cl (c) S2- (d) NH
3

5. Oxygen is a: WWWWxxxxZZZZqqqq----ìììì::::

(a) monovalent element ñâz&Ò3ï G
EHZ&Í-.3ï GGEH (b) divalent element eZðz&Ò3ï G

EHZ&Í-.3ï GGEH

(c) trivalent element R,Zðz&Ò3ï G
EHZ&Í-.3ï GGEH (d) tetravalent element 6Zz&Ò3ï G

EHZ&Í-.3ï GGEH

6. Chemical bond between N2 molecule is: ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwwwÆÆÆÆŠŠŠŠggggxxxxyyyy6666ðððð!!!!****&&&&++++ìììì:::: N2

(a) ionic WÇ7- (b) single covalent ŒÃz&Ò3ï G
EH

(c) double covalent e.ÞÃz&Ò3ï G
EH (d) triple covalent R,>ÞÃz&Ò3ï G

EH

7. How many atoms form one molecule of chlorine gas?

ÄÄÄÄZZZZÅÅÅÅ³³³³gggg++++’’’’»»»»ZZZZqqqq----ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwww¯̄̄̄DDDD÷÷÷÷????

(a) 1 (b) 2 (c) 3 (d) 4

8. Outermost shell of sodium atom has electron(s):

ÎÎÎÎeeee****ZZZZVVVVÆÆÆÆƒƒƒƒÐÐÐÐ!!!!****CCCCÙÙÙÙÆÆÆÆŸŸŸŸ~~~~ZZZZ¼¼¼¼ZZZZyyyyƒƒƒƒDDDD÷÷÷÷::::

(a) 1 (b) 2 (c) 3 (d) 4

9. Outermost shell of chlorine atom has electrons:

³³³³gggg++++ZZZZVVVVÆÆÆÆƒƒƒƒÐÐÐÐ!!!!****CCCCÙÙÙÙÆÆÆÆŸŸŸŸ~~~~ZZZZ¼¼¼¼ZZZZyyyyƒƒƒƒDDDD÷÷÷÷::::

(a) 1 (b) 2 (c) 6 (d) 7

10. Which of the following has stable electronic configuration?

qqqqggggzzzzffffssss~~~~ÐÐÐÐ¾¾¾¾ÅÅÅÅZZZZ¼¼¼¼ZZZZ7777----
±±±±3333̈¨̈̈¾¾¾¾ææææ
EEEEEEEE
YYYY

ccccLLLLìììì????

(a) H (b) He (c) C (d) Li

Q.No.2. Write the short answers. (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

Define the following and explain with examples.

Šg`fsÅ°p™,ZzgVßVÆ‚BzŸs#™,X

(i)  Valency   z&Ó4gö G
E

(ii) Ion Wí  

(iii)  Formula   ÃgñÑ

(iv) Bond !*&+

(v)  Electronic configuration Z¼Z7-F,KM

(vi)  Write the symbols for following Iron, Potassium and Phosphorus.

Šg`fsÆ
\.5Î

æE
EK:M],yÔ7N*ôZzgÃ`gkX

Q.No.3. In what way the molecule of an element is different from that of a

compound?                                                                                                           (3)

¾¾¾¾§§§§bbbbËËËËKKKK»»»»ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwwwááááƒƒƒƒ&&&&++++ÐÐÐÐZZZZìììì????
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